






























1 The angle in a semi circle is 900

Proof

A
o

B
B

Join Oc to form two isosceles Os

Let OCA L Let OCB p

COAL L COBLE B
base as of isos Os

AOC 180 2x c sum of o

Boc 180 2B c su oto

But Aoc t Boc is a straight line 1800

180 22 180 2B 180

180 180 180 2x 2B
180 22 2B
90 L t p

Circle Theorem Proofs



L ACB 900

an angle in a semi circle 900

2 The angle subtended at the centre by an

arc or chord is twice the angle subtended

at the circumference

Proof limited to simplest case

C
Join and extend OC

IP to form two isosceles Os

Let Aco x and Bio p

IL AOC 180 22 c sumoto
A B

AOB 3600 180 22 180 2ps

360 180 22 180 2B

2x 2B

2 atr

Z x LACB

Angle at centre twice angle at circumference



3 Angles in the same segment are equal
Proof

c

D Let ACB L

L

then LAOB 2h

at circumference
A

B ADB L

cat centre twice
at circumference

I ACB C ADB

Angles in the segment are equal

4 Opposite angles of a cyclic quadrilateral
add up to 1800 are supplementary

Proof B
Let ABC L

I Let ADC B
C

A É
label centre o

Join OA and OC

AOC major 22
AOC menor Zp

at centre twice c at cire



22 2 p full circle 360

L t p 1800

Opposite angles of a cyclic quad add up 1800

5 Alternate Segment Theorem

The angle between a tangent and a chord

is equal to an angle made by the chord

in the alternate segment

B

É'd D

Proof Join OA and or to form radii

The DAO 900 tangent radius

BAO 90 a

ABO 90 x isos o

AOB 180 90 2 90 2



LAO B 180 90 2 90th

LAO B Za

i ACB L L at centre is twice
at the cire


